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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : LRy =

wore i engpre T o

(@) What is incremental budget?

4 qeEs 2

(b) Give an example of neutral tax.

fReers a9 @b TR |

(c) Write the meaning of canon of equity as a
characteristic of £00d tax system.
ey T4 Jgd @Y B ser ey wid
ferar |

(d) State one objective of fisca] policy.
FECER Mo b1 T Bemsy 3y |
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(2)

(e) Write the meaning of federal finance.

TeqBR Req o foysy |
(f/’ What is relative taxable capacity?
SCARRE 9 AW e 5 2

(g9) Write one limitation of federal finance
system in India.

SO IS e qrqg 9B Hoae! B |
- Answer the following questions : 2x4=8

weTo fil eppTRd T oy
(a) What do you mean by tax credit?
T = 3 3 ey
(b) Mention two factors responsible for low

level of  taxable capacity in
underdeveloped countries.

TS (PPTIRS fily w5q o FYOR AICT SERET
o1 BT STas) 3oy |

(c) Write a brief note on Goods and Services
Tax (GST),
STRE S ORI 39 57 57 (Ol For4T |

(d) Define government budget.

IR ACEDH gy o |
. Answer any three of the following questions :
S5x3=15

{a) D.iscuss the recommendations of 14th
Finance Compmjgsion of India.

SRS 9 firg wygis AR SIS <1 |
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(3)

(b) Discuss briefly the relative superiority of
indirect taxes over direct taxes.

SePF T AT F97 Heeifre TeFel vYaik
A 4 |

(c) “Expenditure is a better index of ability to
pay than income.” Analyze.
“oReE W P9 AME AR SE P
s 41|

(d) Distinguish between horizontal and
vertical fiscal imbalance. Write down one
purpose of taX sharing in fiscal

federalism. !
SEAE S Cad ISR SeR Ee

4l | TSN TR qagie 4 WF 9D
Teae o4 |

{e) Discuss about the benefit principle of
taxation.

T4 S{Re T R Scewa 3091 |

. Answer any three of the following questions :

10x3=30
oot frar & e fofo! #ER Ty oy
(a) Explain the various types of government

budget. Briefly discuss about the
economic classification of government

budget. 6+4=10
5 qEny [{SA APIPTR qrar <51 1 54181
s A AT Racy vy s

91 |
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(b) Distinguish between progressive and
proportional  taxes, Consider their
advantages and limjtations. 6+4=10
TREAR FE e 999 WES A1

el | PRSI Ry e Nrererigz. R
41 |

(c) Classify impact, shifting and incidence of
tax. Explain the concept of forward and
backward shifting of tax. 6+4=10
FII RIS, PR o oo CINFIT T4 |
T LT W apesyesy @ SePTR AR J071
<41 |

{(d) What_ do you understand by taxablle
capacity? Qp what factors does it

depend? 4+6=10
meﬁqﬁgwﬁﬁsﬁs%w @[S
ST 9

(e) Discuss the ability to pay theory of tax.
What are jtg merits and demerits? 10
T A Ry s 1| TR @]
EIRE fo‘i’ﬁ{q & 59

(f)  What do You mean bY fiscal Poliq_f?
Explain the e ot fiscal policy in

developing Countries: 2+8=10
IR Ny 1 B T TREIE A5
ECPINY § 71 41 |
%?ﬁm‘%ﬂ‘m
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